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Note: Answers may be written either in English or 1n Hindi,
but the same medium should be used throughout the
paper

feoqu} : 3@ WAV ST e @ 5= et ww w1 i,

| St st 3ot 1 me e @ g e

L

6453 | 1 PT.O.

Download Entrance exam question paper, model and previous year question bank


http://www.howtoexam.com

http://www.howtoexam.com

Attempt All questions
All questions carry equal marks
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1 (a) In India. we have a large number of firms
which are single product, single entity
Does this mean that the behavioural theory
18 wrelevant 7 Can you think of any other
theory, which may be applicable to such
firms ?

(b) “It1s not the maximuzation of profits which
now 1s the goal of the modern corporation
or firm rather 1t 1s the structure of the
orgamzation which decides 1ts goals”
Justyfy the statement
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(a) Discuss sales maximization as an
alternative objective of the firm

(b) Compare and contrast Bamoul’s static
model with dynamic model, with reference
to the set of underlymg assumptions and
predictions
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2 (a) Compare the bifurcation of price effect into
substitution and 1ncome effects, using
Hicksian and Slutsky approaches Under
what conditions will the law of demand not

apply ?
(b) State the assumptions of revealed
preference theory  Explamm  how the

fundamental theorem of consumption 1s
derived from these assumptions -
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OR/3ruan
(a) Explan brnefly vanous measures of

uncertainties. What are the lymitations of
such measurements ?

(b) Daiscuss the concepts of nisk preference, nisk
aversion and risk neutral Can you think of
real world examples of these concepts ?
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3 (a) “For output less than long run optimal level,
1t 1s more economical to underuse a shghtly
larger plant operating at less than its
mimmmum cost output Conversely, at
outputs beyond the optimum level, 1t 1s
more economical to over use smaller plant ”
Explain this showing the relationship
between relevant cost curves

(b) Q =20 LK 1s the output rate of a company
The price of labour (L) 1s Rs 4 per unit and
the price of capital (K) 1s Rs 10 per unit
What combinations of inputs should the
firm use to produce 200 units of output per
period of time ?
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(a) How the cost function is derived from
estimated productton function ? What
problems are encountered 1n empirical
cstimation of cost function ?

(b) Is increasing returns to scalc a refutation of
the law of dimimishing returns ? Also
~ explamn whether constant returns to scale
compatible with the law of diminishing
returns Discuss economic implication
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4 (a) ‘There 1s always a first entrant advantage ’
Discuss the statement in the lhight of
Cournot and Stakelberg’s models of
duopoly

(b) Two firms under Cartel face demand and
cost functions as given below

2
P, =100-2Q,-Q,, TC, =25Q;
P,=95-Q,-3Q, TC,=25Q,

Determine the quantities ‘and prices such
that their joint-profits are maximum Also
find the individual profits
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(a) Iiscuss the imphcations of the imposition
of lump sum tax, profits tax and specific tax
under monopoly Whether a monopolist can
raise the pnce by the full amount of a per
unit tax

(b) Explain the various methods of prnicing of

" product 1n terms of objectives and costs

(F) TETHER & ol .ueEgva ®, e 3R
fafire o o & Ffedmt # faae sifg
FT P THHaEE id 31 H R [ 9 5
HITa T FHATS ?

(@) T I A # g ¥ IR A HEA-
frateor &t fafir fafirar =t v sl |

5 Explain briefly any two of the following

(a) Uses of the concepts of marginalism and
equi-marginalism 1n business life

(b) Impact of technological change on
productivity

(¢) Symmetnc and asymmetnc information

(d) Monopsomstic and monopolistic
exploitation of labour
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